FgArea: [0 ]
NC11 P3-8
2025-04-07 (Day 9)




Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
T T T T T

3500

1
I
I
3000 |
1
1

2500

2000

1500
xooe?x

1
|
1
1000 i - ECFZEXp
1
1

—>¢— ECdef

Warning: col [ EcFgro’, 'EcPltng'] is missing water ec

500

0 25 50 75 100 125 150 175



Plot [’ ECopt’]

3500 7 —@— ECopt

3000 -

2500

2000

1500 ~

1000

500 -

0 25 50 75 100 125 150 175



Plot Sensor and FgRec Data

0. 04 -

0.02

0. 00 -

-0. 02 ~

—0. 04 ~

——

dFVi
dFVo

2400

2300 -

2200

2100 -

2000

1900 ~

1800

- -
—_——

fz_stock_ec

- ling: col ['ECC’] is missing
0

1

2 3

day

6.6 7

6.4

6.2

6.0

5.8

9.6 7

——

PHB*10%

Warning: col ['PHC ] is missing

2 3

day

800 -

600 -

400 ~

200

——

DUC

day

500 ~

400 ~

300 ~

200 -

100

——

FRV

day

0. 64

0. 62

0. 60 -

0. 58 -

0. 56

day




['ETcl’, "optETcl’], 'LAl', ’optEtRate’]

['T", "Topt’], ['RH', 'RHopt'],

" lopt’ ],

Plot [['I",

175

150

125

100

75

50

25

T T
+2 + — — [N
Q Q %) <C +
o o [ — @©
- - — w o
o + 45
— o L
w o +
Q
_ _ \ _ [e]
Te} te} te} _ Te) Te)
¥ ~ ~ ~ ~ ~
\ o
—— V
= o o o o
C s} s} s} s hrsd —
nH
B —
— -
Av
—
——
B— Te] Te) Te) Te) Te)
5 ~ N 5\ Y W
\ —
>
\\
—
<
>
<
——
I o o o o o
S S S S S
W
« \ ..M.
E—— \\ —
Te} te} te} ﬂ Te) Te) A
~ ~ ~ M ~ ~
— MU
— nv
— mV
= o o o o
) Irs) " /& © ) W
N~ Te) Te) Te) Te) Te)
| w— 59 N Y 59 59
||||| —— e e I e ——— Illly o o ] b |||||||||h“\KI||I Illlllllllllllll/ly — S . W e U
>
— LMHM\| g _
— T T —
N B @ o —
o —— o + o o | o
T
o o o o o o o Te) o Te} o o o = o o o o o o o 7o) o Te) o Te} < N o o ©
e} S e} S el S 5] N ~ — © o < ™ = S = = S . . . . .
< < ™ 5] N 13 o S T S T ™ o~ Y] — — o — - — o o



250

200

150

100

50

Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]

1 I ]
: —@— setVI| _ETcl
1 —0— setVI_fgRec
: —o— siSetVl
1
« .
I
\ / \—0\‘\ : —e
A < : /.
\._.\‘\ 1
@
1 is missin
0.0 2.5 5.0 7.5 10.0 12.5 15.0 17.5



Trend plot forP3-8 0

Warning: col [['minFVliraw', 'minFVOrah'] is missing
1

minFVI
minFVO

1. 04 A

1.02 A

1.00 —@ ®

0. 98 -

0.96

—@— ETcA

Warning: col |['ETcATraw’,

"ETcA1", ’FTcAZraw'

i oo

"ETcA2']

is missing

1.0

0.2

0.4

0.6

0.8

0.8 -

0.6 1

0.4 -

0.2+

Warning: col ['ETcA2raw’, 'ETcA2avg’, 'ETcA2’] missing

0.0

2200 -

2000 -

1800 ~

1600 ~

1400

1200

—@— ECopt

Warning: col |['ECC’, 'ECI’

"ECO’ ] i% missling

6.8 1

—@— PHopt

Warning: col |[['PHC', 'PHI’

S A M e
®
®

" PHO' ] i% missling

31.5 A

31.0 -

30. 5

29.5 -

29.0

28.5 -

—o—

WCperM

Warning: col [ WCperMraw',

i= o—o0—0

’WCperMav%’] is| missing

——
+
—0—

minDe | taM
avgDeltaM
stdDeltaM

4 —1

¢
*c o—0—0
¢

28 A

26 A

24 -

22 -

—&@— begM 1
+
——

maxM
minM

.
i= o—o0—0
¢

4 o—1

adjFVOR

Warning: col [["adjFVIRraw’

"adjFVIR

, "adjFVORraw'] is missing

Warning: col [["FRA"] is missing

—0— LAl

10

15

25

400 -

350 A

300 -

250

200 -

150

100 -

50 A

——
—Q—

postFgEtraw

postFgEtavg
postFgEt




100
80

o
©
1

FgDaily

© 4.0 -

- 40

50 -

20

6.0 -
7.0 -
8.0 -



P3-8_0

col ['VN'] missing
T
0.2

Warning:

ETcl

—0—
—0— ETbai
+

—@— PPFD
—@— ETclis
—0— ETcPT
—®— ETcRn

o
T T T T T T T - T T T T o T T T T T T - T T T T T
o o o o o o o o o o (e} © < N o '} o o o o o o o o o o o
(<} ~ © o < ™ N — — o o o o o r~ o N o ~ o N < < ™ N —
N N N N — — —

12

10




00
0.75
0.50

-0.25

-0.00

--0.25
-0.50
-0.75

]
o
—
Ll
—
o
o
-
(WN]

ETcldef ETcP

ETcI

1213 uFmv_o._.m_ n_o.—m_ n_ohm_ m__o._.m_ owm_ _om_ _mn._.m_ a n_n_>n_ cn_n_n_



ETcl

ETol

800 A

700

600 -

500 -

400 -

300 -

200 -

100 -

1600 -

1400 ~

1200 -

1000 ~

800 -

600

([

27.5 A

25.0

22.5

20. 0 -

17.5 1

15.0

12.5

60

- 50 A

R

40

30 A

@

350 -

325 -

300 -

275 A

250 -

225 A

200 -

200

T
400
ETcl

T
600

T
800

T
750

T T T T
1000 1250 1500 1750
ETol

15

20

25

30

40

50
RH

60

200

250

300

350



hour

100

140
140
- 60
50
:10
- 40
125
140 20
:10
1 1 1 I I I I -0
& & & B & % S
é§¥ & %ﬁ» & & 4? %;5 %gr



P3-8

BFE) | GEBRTK (3)) | s (EAH/ER) | XS R

06:40 109 70.0 5 FiHA@06:40 (&K FAEREE)
07:40 109 70.0 5 FiHAe07:40 (RFEEREE)
08:40 109 70.0 5 FiH#A@08:40 (FFfEEES)
09:50 109 70.0 & FiEH@09:50 (FKRF1EEES)
11:10 109 70.0 5 FnHfe11:10 (REERES)
12:25 109 70.0 5 FiHfe12:25 (KREERS)
13:40 109 70.0 & FiHA@13:40 (KREA{ERHSE)
15:10 109 70.0 5 FiHfe15:10 (RFEEEER)
2it| 872.0 (8%) 560. 0 32 3KEC: 1900.0, PH: 6.5

REX 1 B AR ECHIE R Kk
REXR BB HEREC/PHEER K, 7T

VNN =A
BEFZ

MR R 56




FRV (ml plant-1)

ET (ml/hr/plant)

P3-8 0, Day=9 (2025-04-07)

VI, VB3#RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 188

20
- 400
- 200
00 00 00

TargetEC=2300. 0,  TargetSetEC=1900. 0

TargetPH=6. 5, TargetSetPH=6.5

2001
150
100 -
50 A

1.0 A

ByWoFv @D97102:44: ET=488 Fg=560.0 Ro=50.0

=

T
o]
(=}
o

T T
H [=2]
o o
o o

T
N
o
o

o

0.8 -

PR | BA [ PH | BE | R [ BE | 5 | R [ BF | HE | RE | BF | HE | RS | BE | Rs | RE | HE | A5 [ AR | HE | RS [ HF | R

0.6 1

0.4+

0.2~

800
600 -
400 -

200 ~

, 'PPFD_obs’] is missing

\ A A Warhing:,‘:ol Al o

30 A

25 -

20 -

_F5 obs'] is missing

20 -

Warning: lcol ['RH _obs’, 'RHo obs’] is mi

1.0

o VPD

0.8 ~

0.6 1

0.4+

0.2~

0.0

0.

0 0.2 0.4 0.6 0.8 1.

0

- 600

FRV (ml d-1)

cumET (ml/plant)



100

6:40

80

9:00

60

10:55

hour

40

12:20

20

13:55




P3-8

BYE) | GEBERTIC (B)) | EBE (EAH/#K) | KB SR

06:40 120 80.0 = B1%@06:40 (KRFERSE)
09:00 120 80.0 = 131£@09:00 (K F{ERLEE)
10:55 120 80.0 5 B1&£@10:55 (RFERE)
12:20 120 80.0 5 Bi%012:20 (REERSE)
13:55 120 80.0 5 1B3i%@13:55 (REEHZE)
2it| 600.0 (5%) 400. 0 3ZHKEC: 1900.0, PH: 6.5

REX 1 B AR ECHIE R Kk
RER B HEREC/PHELERK, WRER

MEARBR TR




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-8_0, Day=8 (2025-04-06)

L e e e Bt e A 53539 I 600

60

40

20 A

VI,V%EERV,ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET

9L 400
| L 200

00
- 06

100

=

91
00 Warning: lcol [FVI',| "FVO’'] missing
FRV

~
(&)}
1

a1
o
1

N
(3]

=
m
=

maxM - 34

- 30

- 28

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2300. 0,  TargetSetEC=1900. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.5

Warning: lcol ['PHB’,| 'PHC’'] missing

0_
200 A1

Bylnit @9 02:44: ET=488 Fg=630.0 Ro=59.0

4 1000

- 750

- 500

- 250

0 1 2 3 4 5 6 7 8 9

10

11

16

19

20

21

22

23 L 1000

BB (B[ ||| |B| K| AE

E3
B

ES
5]

=
B

ES
5]

=
B

E3
B

E3
B

A

150 A

100 -

50 -

0_
200 A1

ByEt @D8 18:09: ET=636 Fg=539.0 Ro=nan

- S -

- 750

- 500

- 250

0 1 2 3 4

- 1000

BB | B | B | B | B[ [Z=| | R

E3
B

ES
5]

=
B

E3
B

%=

%=

%=

E3
B

E3
B

%=

150 A

100 -

50 -

1.0 A

]
ByWoFv @D9102:44: ET=391 Fg=400.0 Ro=48.0

- 750

- 500

- 250

10

11

12

13

14

15

16

17

18

19

20

21

22

23

0.8

5 [ B | BE | B [ | BE | B [ 5 | A

E3
B

ES
5]

=
B

E3
B

%=

%=

%=

E3
B

E3
B

%=

%=

3

B

E3
B

%=

0.6

0.4+

0.2~

0.0
1500 4

1000

500 ~

—@— PPFD_obs

|
| _obs

40 -

RH

RH_obs
RHo

obs

VPD P

12
hour

14

16

18

20

22

24

FRV (ml d-1)

- 32 W

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=480, FV0=0 m=540, FV0=0 m=600, FV0=0

34 4 35 35 -
—-e— ME —— ME —-e— ME —o— ME
34 4
33 1 34 - 34 -
32 32 A
33 33 A
31
30 - 32 - 32 4
30
28 31 4 31 -
T T T T T 29 T T T T T T T T T
500 600 700 800 900 480 485 490 540 545 550 600 605 610
m=690,m FV0=0 m=720,m FV0=0 m=780,m FV0=0 m=840,m FV0=0
33 4 31.0 4 31.01
33 - ME —-o— ME : - ME —o— ME
20.5 30.5 -
32 1 30.0
32 30. 0 1
29.5 -
a1 - 29.5 -
311 29.0 4
29.0 -
28.5 -
30 - 30 1 28.5 -
T T T T T T T T T 28 0 B T T T
690 695 700 720 725 730 780 785 790 840 845 850
m m=480,m FV0=0 m=540,m FV0=0 m=600,m FV0=0
37.0 37.5
—— MW —— MW : —— MW —— MW
37
36.5 - 37.0
37.0
36 36. 0 -
36.5 -
36.5 -
35 35.5 -
36.0 -
35.0 - 36.0 -
34
T T T T T 34 5 T T T T T T 35 5 L T T T
500 600 700 800 900 480 485 490 540 545 550 600 605 610
m=690,m FV0=0 m=720,m FV0=0 m=780,m FV0=0 m=840,m FV0=0
365 - —o— MW 36.5 1 —o— MW —o— MW —o— MW
35.5 -
35.0 -
26.0 - 36.0 -
35.0 -
34.5 -
35.5 35.5 1
34.5
34.0
35.0 - 35.0 -
34.0 1
690 695 700 720 725 730 780 785 790 840 845 850



hour

100

6:45
80
9:40
- 60
11:50 40
20
14:00
1 1 1 1 O
% & & B XS B
FEF S LS,




P3-8

BYE) | GEBERTIC (B)) | EBE (EAH/#) | XS R

06:45 180 90.0 = 1B31%@06:45 (KRFEERHZE)
09:40 180 90.0 5 Bi%@09:40 (KRFERSE)
11:50 180 90.0 = BRi%e11:50 (RAEFEREE)
14:00 180 90.0 & BR1&@14:00 (RFEREE)
23t 720.0 (4%) 360.0 3Z053KEC: 1900.0, PH: 6.5

EORERRRTC (180. 0) 578 (141.0) 1%, A aEH T % AREERS 2 X ER
ZRIASLPRIERE115.0 ml.

RE R i3k [B] RECEIB Hh ok

REXREBT I HEREC/PHE R K, FIREINIRAR R



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-8_0, Day=7 (2025-04-05)

_____________________________________________________________________________________ 800
804 VI, VB/ERV, ET = V|, VO, FVI, FVO, FRV, ad jFRV, ET
L 600 ~
60 46460 5
58—400\_5/
40‘ 61 -
o
20 L 200 &
00 Warning: lcol [FVI',| "FVO’'] missing 6o
150 -———+ 08
( FRV — ME
maxM | 36
100 A
____________________________________________________________________ L 34
(NN
=
- 32
50
e - 30
1.0 28
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 TargetEC=2300. 0,  TargetSetEC=1900. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=6.5 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
Bylnit @D9:02:44: ET=430 Fg=450.0 Ro=51.0 ?800 —_
| 600 &
100 - ! =
1 - 400 ™~
50 4 : "
! - 200 5
01 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
150 i | B | B K| B | B|[B|B| B[ KB B 5 5 5 B 5 5 5 B 5 5 5 i 5 | 800
_ ] [=
ByEt @D7 18:08: ET=514 Fg=640.0 Ro=nan ) © ‘I © L 600 %_
100 - | 2
- 400 ™~
]
%01 - 200 5
o 06— —o o
0 —p oo o P 0
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
150 iE | B | B | B | B | B|[mB|B| B | B i 5 5 5 B 5 5 5 | KBS 5 5 5 i 5 800 &
. 1 C
ByWoFv @D9:02:44: ET=358 Fg=360.0 Ro=39.0 L 600 %_
100 - : 2
1 - 400 ™~
50 4 ' "
: - 200 5
o —e—10—&
1.0 —a a  la PN - 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES == E3 ES ES == E3 ES ES == E3 ES ES
0.8 - B B B B B B B B B B B B B B B B B B B B B B B
0.6 -
0.4 1
0.2 A
0.0
1500 4 —_— 4
o® o | _obs
1000 + —@— PPFD_obs
500 -
0
n
3 3 *ﬁ s e v #
hy [ )
..~ﬂ
2_
1
_______ -— .
0 2 4 6 8 10 12 14 16 18 20 22 24



36

34

32 -

30 A

M_E

660
m=750,n FV0=0

500

T
700

T
800

34

33 A

32 A

31

30 A

——

M_E

755
m=660,n FV0=0

750

T
760

37.5 -

37.0

36. 5

36. 0

35.5

——

M_W

660 665

670

m=480, FV0=0

36

35 A

34

33 A

32 -

31 4

30 -

——

M_E

T
480

T
485

38 -

37 A

36

35 -

T
500

660
m=750,n FV0=0

T
700

T
800

37.0 A

36.5 -

36. 0

35.5 -

35.0 A

——

M_W

750

755

760

m=570, FV0=0

36

35 -

34

33 -

32 -

——

M_E

T
570

5;5
m=480,n FV0=0

T
580

38.0

37.5 -

37.0 A

36. 5

36. 0

35.5

——

M_W

T
480

485

490

m=660, FV0=0

35 -

34

33 -

32 -

31

——

M_E

660

665
m=570,n FV0=0

T
670

38.0 A

37.5 -

37.0 A

36.5 -

36. 0

——

M_W

570

975

580




100

80

- 60

hour

- 40
20

6:45
10:05
13:20
1 1 1 1

Q) I/ \2\
45%'g§645§ *égé
TV




P3-8

BfiE) | EBATK (7)) | EME (EAH/H) | XX e

06:45 210 90.0 (&= Ri%@06:45 (RFEREE)
10:05 210 90.0 1] 1£010:05 (RFERE)
13:20 210 90.0 1] Bi%@13:20 (REERSE)
23t| 630.0 (3%) 270.0 3203 KEC: 2000.0, PH: 6.5

EREBRTK (210. 0) 57 #A (138. 0) TfF, FIREH T % WREI#1RS % XER

ZRIALPRIERE136.0 ml.
BE X HE [E] IRECETHE SR 2K
RE R L3 HEREC/PHIE SREE, TTRER,

MR ELR R




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-8_0, Day=6 (2025-04-04)

_____________________________________________________________________________________ - 800
804 VI, VOTERV, ET = V], VO, FVI, FVO, FRV, ad jFRV, ET 67680
L 600 —~
60 i
% - 400 E
69 48 >
20_ "200“—
00 Warning: lcol [FVI',| "FVO’'] missing 6o
0 - 08
150—(
100 +
50
1.0
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 TargetEC=2300. 0, | TargetSetEC=2000. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=6.5 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
908 5 7
Bylnit @D9:02:44: ET=354 Fg=360.0 Ro=39.0 4 1000 o
150 - } ]
! L 750 =
100 - ! =
: - 500 -~
' 5
50 - ! - 250 5
) o—0—t0—0——0—
20 P La =  —— 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
572z 5| M | % | f | B | B | B8 | B3| A | B3| Bs | e | Be | A5 | B | Bs | A& | Be | Bs | B | B8 | m& | 1000
150 - } c
ByEt @D6 18:08: ET=362 Fg=770.0 Ro=nan ' &—e—o—o - 750 5
~N
- ] —
100 ] L 500 S
'—
e—o—=o o
o0 | = 250 5
S S
ZOQZ.E. ___ PN = == - 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
2% |52 %% W |22 222225522 B | B | B | BB 22553215552 % | B | & | BB [ & [ 10005
150 - I c
ByWoFv @D9:02:44: ET=248 Fg=270.0 Ro=25.0 - 750 7“’1
~N
_ | =
100 : L 500 S
'—
50 i ——8—8—8—8§ fT1 L 950 U;EJ,
[&]
o ro—0—@—
1.0 P 1': ' \‘I/\¥ 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
0812|2535 B |25 (35|52 (25| BB [ | | BB | B |BE| 25 (235|555 B 5 5 i 5
0.6 -
0.4 1
0.2 A
0.0
—_— 4
| _obs
PPFD_obs
10
n
60

40

2004 @ RHo_obs

RH
[ ] RH_obs

% '. e v f
i (Y
3 ® e ® o &
® %° e
2 "V’ *
1
"""" L
0 2 4 6 8 10 12 14 16 18 20 22 24



36

34

32 A

30 A

M_E

660 760
m=750,n FV0=0

500

T
800

T
900

35 -

34 A

33 A

32 A

31 A

——

M_E

755
m=570,n FV0=0

750

T
760

38.5

38.0

37.5

37.0 A

36. 5

36. 0

——

M_W

570 575

580

m=480, FV0=0

- ME
36 -
34 -
32 -
30_ T T T
480 485 490
m=840,m FV0=0
—o— NE
35 -
34 -
33 -
32 -
31 -
T T T
840 845 850
m=660,m FV0=0
38.0 -
—— MW
37.5 -
37.0 -
36.5 - ‘*o\.&._.
36.0 -
35.5 -
660 665 670

m=570, FV0=0

36

35 -

34

33 A

32 -

——

M_E

570

575

580

38 A

37 A

36

35 A

M_W

500

660 760
m=750,n FV0=0

T
800

900

37.5 A

37.0

36. 5

36. 0

35.5

35. 0 -

——

M_Ww

750

755

760

m=660, FV0=0

36

35 A

34

33 A

32

31

——

M_E

Peaes

660

665
m=480,n FV0=0

T
670

38

37 A

36 -

35 -

——

M_W

480

485
m=840,n FV0=0

T
490

37.5 4

37.0 A

36.5 -

36. 0

35.5 A

35.0 -

——

M_W

840

845

850







P3-8

BE) | EEBEETHC (FD) | ERE (EH/HK) | XK TR
09:50 210 130.0 (5 ’Ri%@09:50 (KAL)
23 210.0 (%) 130.0 323K EC: 1912.0, PH: 6.5

RE R B RECHIR TR K.
RER BB HREC/PHIEER K, FIRERIMIRELR SR



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

1

1

1

1.

2

1

3

2

1

3

2

1

1.

0.

0.

0.

0.

18

P3-8_0, Day=5 (2025-04-03)
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